Tableaux des Puissances de Dix (C)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 2000 20000 200 20

4,19

1,36

6,86

7,83

3,49

X 80 000 8 000 800 80

9,39

2,67

5,21

8,71

7,73

= 500 50 000 50 5000

2,78

3,86

4,04

1,19

5,06

= 50 50 000 500 5000

1,01

4,28

3,3

7,58

5,55
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Tableaux des Puissances de Dix (C) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 2000 20000 200 20
4,19 8 380 83 800 838 83,8
1,36 2720 27 200 272 27,2
6,86 13720 137 200 1372 137,2
7,83 15 660 156 600 1566 156,6
3,49 6 980 69 800 698 69,8

X 80 000 8 000 800 80
9,39 751 200 75120 7512 751,2
2,67 213 600 21 360 2136 213,6
5,21 416 800 41 680 4168 416,8
8,71 696 800 69 680 6 968 696,38
7,73 618 400 61 840 6 184 618,4

+ 500 50 000 50 5000
2,78 0,00556 0,0000556 0,0556 0,000556
3,86 0,00772 0,0000772 0,0772 0,000772
4,04 0,00808 0,0000808 0,0808 0,000808
1,19 0,00238 0,0000238 0,0238 0,000238
5,06 0,01012 0,0001012 0,1012 0,001012

+ 50 50 000 500 5000
1,01 0,0202 0,0000202 0,00202 0,000202
4,28 0,0856 0,0000856 0,00856 0,000856
3,3 0,066 0,000066 0,0066 0,00066
7,58 0,1516 0,0001516 0,01516 0,001516
5,55 0,111 0,000111 0,0111 0,00111
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